b, Draw the structure of urinar};:;;t. U With
AAtseptic

Write the chemica) reaction

: i that
e 2 Serva . Wi
given preservative is treateq With phe 0‘;1(1 3 When ¢,
: NOl in aei 1 t
J.  How would you obtaip the Preservatiy N acidje Medjy, ;
A carbonyl compound with molecy] e from Methangs

give silver mirror test) hag tre

]+ 1+ 1]
arting from compound P, how do th
which gives benzene where R i

€ reac q
3 S anf’]l.i()n: Proceed ﬂhead to ()h',lin : \
o . : ? > dniline? . ;

quence with suitable conditions. Complete the reaction

range the given compounds accordin

. S g to their ascends .
fic strength and justify your order. oIt ascending order of \
R *

R C6HsCOOH, CICH,CH CO([)]H+ o

Model Question 2078
Group 'A'

jice questions {11 x1

pesium required 10ml of 1.75 N H,SO, for complete reaction. The value of x is -

oy (021 c. 028 d. 042
ese 1sn’t lewis acid?
b. BF; c i NHY d SO
e constant of a reaction is mole 'litre s”'. The order of the reaction is
] G, (3 S
anic cell given in the figure. Which
e? - vr Sal‘l\brl(d:c- W
de is cathode ey

rode is anode
d
uced
»f which metal is colorless?

b, = 7Zn

dEEEEn
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Discuss the principle involy
Compare basic oxygen pm‘.ed
ess

m
:  is nucleophilic substiyg Witlf"glfﬂculre f
whet - >"hstitution Teactj Pen hey ey by
what i dchydrohalogenati(m react; 1on? G tth 5
R peated vxflth ﬂlc.oholic solution on? Whg maie. - Mism g
which predicts major product jp, & of Nagy . W:'()r Produg, r §
why is -OH group of € above peg . © do 0
W whatl h Phenol 6,5, g 1O the reqqy
what happens when . erdlrecygy 1on
b) AnH Phenol jg treateq eleotrgnp::.
a) q. brp With Philic Subygy
o . Stitugy
g rite down two isomerjce Amines o qu. Feq), 100 req fom?
By € nn}p‘ut the basic strength of abo name hayiy,
) Define polymers. Ve amineg C()midmolewlm
Ingsif S *ldering
p) ¢ l;l.\\le I:TL lI)olymers on the bagjg of t diffe,
o Whatis clinker? Why jg gypsu YPes of mg
m ¢ s Nom,
ddded n Cemem') er pr(:Scnt_
Answer questions Toup '¢
) Define indicator.
What is suitable indi !
i indicator for titration
titration curve. of CHycooy i
i
) What mass of AgCl will precipitate whe NaOH solution D
1 500m of Saturated A

of O.QM NaCl solution. [Ky, of AgC] = 1x101%) ‘
Why Nickel spatula can’t be used to stir CusSO ' (1 t.o e
Difference between galvanic cell and electr ; SO e E o= 034v,E°
For the cell reaction, Zn(s) + 2 Ag" (aq) A
free energy cbange (AG®) of the cell. (E° =

Is the above cell reaction spontaneous?

Nwsni=-025V) (2

: (2)
genation of ethanol is allowed 1o react

with Tollen’s reagent?
A ketone ‘A’ v‘vhich gives Iodoform test gives compound ‘B’ on reduction. ‘B’ on heating wi

CODC_~ H,S04 g}VCS compound ‘C’, which forms ozonide ‘D’. ‘D’ on hydrc;]ysis in the Ex
of zinc dust gives only Acetaldehyde. Identify A, B, C with their [IUPAC name andpreaction

involved.

) 4 4)

Write one reaction of each X

i) Benzoin Condensation ii) Cannizaro reaction iii) Rosenmund reduction.
¢ acid? Give reason. (2)

Which one is more acidic among acetic acid and chloroaceti
Why ~COOH present on the benzene ring shows meta-directing effect towards electrophilic

substitution reaction?

Consider the reaction e
SOCl NH I BryKOH — NaNO:
——2) B : ; . i B, C, D and
has positive Todoform test. Identify AB,C,

he compound E is primary alcohol which
[UPAC names. (2)

with reaction and IUPAC name s ith their

rite down the primary and secondary alcohol isomers of Sﬁg :(fix P

ow would you distinguish these isomers by v1ctor9me)’er H
4 out in aniline. WhY: @

irect nitration can’t be carrie

50, how nitration is done in aniline?
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Multiple Choice questiong
1

The masg of

b.  Hc, H,§
NH,C] + NH, og

. C
. & 4
In a chemica] Teaction the Product getg as catalyst. This phenomenon is

2. Enzyme Catalysjs Homogenous Catalysis
@ Heterogenous Catalysjg Autocatalysjs

In which of thege Case the Teaction g alwayg SPontaneoys?

H*“zS

a. AH=+ve,As=+ve b. AH:xve,As=“,e

c. AH=+ve,As=—ve d. AH=~ve,As:+Ve

The configuration of 4 electron jp pe+ in high spin complex

a. dggadegz b. dugs gO C. dt234dcgl d, dlz 25 3
Which of these is ot an ore of Copper? =

& Azurite b. Malachite ¢ Chalcopyrie * Siderjge
2—Ch10r0propane undergoeg dehydrohalqgenation 0 give which of the folloys, ccorg;,
Saytzeff rule? : il
S But s b.  But2-epe €. Propene d. Ethene

Mortar js the mixtyre of
a5 Cement ¢ Water b. Cement + sand

c MattingA Glossmg
I-131 d. p3g
[8x5= 40)
S€ with reagop i) BE, 1i) NH, )
HCOoy solution apq also calculate 1t pH (Ka for
(1+2)
@)

- 2815 KJ/mole

i r
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How does concentration and sjze of part
Determine the order of reaction and v

icle effec
L HNO (2) + €l

ue

(g— 2) NOC| @

ollowing sequence of reaction A i
hot and conc HNO,?

i 3+2=5)
ydration of Alkyne ‘A’. The compound ‘B’ op
bon atoms which doesn’t reduce Tollen’s reagent.

to methanoic acid.

(3)
g g
acidic nature of ethanol and phenol with reason,

(2)
: a (2)
L chloride upon boiling with water produce compound ‘A’

which on heating
ide in the presence of conc. H,S80, produce acid-base indicator ‘B’ Identify
juence of reaction and their names. What happens when compound ‘A’ is
rm and alc. KOH at 60°C followed by acidification?

(3)
nds in a sequence of reaction chain with suitable conditions, reagents

(5)
henyl carbylamines, Aniline, nitrobenzene, benzene.l

xample'of antipyretic drug with its structure.

2)

()
tion of paper? Write down the flow sheet diagram of production

2)
[3 x 8 =24]

g solute in suitable solvent. The method of determining

alled titration. @

2)
of N/2 HySOq4 solution. The mixture was diluted to

i ion.(4
lution and concentration of the resulting solutzclm (7:
3 i +2
me catalyze a reaction? Lk
wolved at electrodes in dry cell.

2

nd equivalent point.
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10. a)  hat are ambident nucleo,

b) Identify the reag
Br

/

A
[FC]— e CH, N@\Cn =cn, [B]
¢)  Identify X and Y in the following rea

phile? Giye €Xampleg,

ents A and B in the fo]lo\lil' *eaction

CH; CHO\;X\) Y

Heated with P,05 ii) Treated With Socy,
V)  Treated with ethano] jn Presence of cone sto4
V) Heated with Lithiu

b)  What are alcoholic beverages? Giye an

€Xample of industrial Methog
alcoholic ingredient of such beverage.
I1) a) Separate the followin i

of Prog e
g amines by using Hoffmann S methoq %
H,C CH, - NH, HC—— N s )
Ethanamine N-methylmethanamine
b)  Convert among the above compound which doesn’t giye Carbylamine test ingg
¢) A parent hydrocarbon A’ reacts with Ditrating MiXture te give Com d 'B,al'yan,%‘
oily liquid with bitter almonq smell, which on alkaline reduct; 50
reason, why compound B undergoes e] y‘g::
,,,,, i - o
Group 'A’ e
Multiple Chojce questions . xl"ll]
1. 10ml of IM H,50, was mixed with 10m] of H,0. The volume of diluteq acid reqye:
20ml of 1M NaOR js “uireq " N,
a.  10ml b.  15m] C.  20m] d. 2
2. Which of these gjyes acidic sajt Solution? i
a.  NaC] b. Na2C03 ¢ NH, (] d
3. Which of these is 4 State functiop? CH;CO()Na
a ¢ b. w c. g- il q+w
4. Which of these is not 5 Standard condition for Standard electrode Potentia]?
a  25°c temperatyre b. 1M ionic Coucentration
@ Tl atmospheric Pressure d.
5. Which of these js diamagnetjcy
A7 nikt

1M elecn-olytic concenh’aﬁon
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o

an’t reduce Fehling solution?

e i :
lowinE T Formic acid ¢ R
ne ' t; of? Ormaldehye
po o a0l®  oolymet TEE e & Ac
al \c“(‘lmcf isof b. (-hk?rn‘p 1‘an. . % Cyanoprene “Uldehyg
il i oy Seting time of cement is: %
o qed 10 s Na,O ¢ . Feg €Oprene
,.s“"“ o od with caustic soda dissociates d @
:\ J\“ ol coftwe Lignin % Wty RS(),, 2“,()
11 AR Group 'B' d
Pt jose CON
Al one
e,
'q“‘-.liu“;“ < of HCLin analysis of group 1 metal jong) : 18 % § =49
1 ¢ . . ol PR @ >
o ¢ LS {he l‘ colubility of PbCly in grams per lite if its K, ‘
g W e 1° 00 278) o Vale is 16 xigt, g, D
‘.V\\.:m of N;( clectrode potential originated? i M"":\“h:
el a 1o N e, SN
\;‘ Wi ’\‘mj Jvanic €€ 1l Usihg (‘u(-(':!c&troge and ME*C\ecm\de Writ %))
‘. o 8 P i cell- pmcnlm . (Given, OMKNIM =217 3 € cell reacti
N X \,l\-\\‘ ¢ -“"““““»‘ ] : v, eCw'v: -0.34V) ik also
Al _(he terms i) Pro | 1 3y
\\"‘““ oV parrier PEr Orientation.
3 \"ﬂf‘ &) A 2C2H4 (2)
on CaHg (@ — (). The rate law equayj
or € reaction =4 Auation of the reaction is Rate = ¢
‘ ‘('H\l]. what value the rate of reaction changes when concentration of eyclobutane (i
» 3\ 5 i
N ) 42 +Hy) iy
" gouble’™ alue of rate constant of the reaction if the inie (1)
st 16/ GRS 4 o o0 1f the iniial rate at 0.1m
W ‘;cs“‘m‘i““ is 2x 10 mo_l. S e c‘g‘)
cC o 08 of a metal. 1dentify (h.c species in the sequence of reaction giving the chemical
.a Smy‘hh.kmes compound C reacts with gxcess KI. )
\.»ﬂ;m‘“‘ How ¢ aqua regia Sn Cl, o5 SnCl, (excess)
ST B(® " White "
A metal ppt
: 3 1)
. o of 1r0n'? (
at is rustng y v 3)
s \\?fus the clectrochemical theory of ?,ung ((l)
p DI wo methods of prevention LR O difficult as compared to chloroethane.
Give mh' ic substitution reaction in ciflerobenzene is ditiic par o
, NucleoP A ;
¥ pxplaif- . two carbon containing OFgano magnesium halide compound. Prepar P“““g)
A 1S
: m! Ound = a cO! A. : . v +
» < '\51)01 2cid and aldehyde using O wids JUPAC names. Which isomet has higher boiling W:‘;‘)
‘:i}kne down the isomers of C2 WA‘. spa o
2o : 1-ol, propan-2-0l and 2-10chY 1+1+D)
5 the oxidation reactions of propan-i-=sh (1+1+
: e ; ;
Write dOWI : ollowing reaction g Pt e
bd' ify the major product in the ; p) CHCOCHT B
Jdently K g
2 HCHO + NH;
Cl
\ KoH
c G .———CH3 ——i dil. NaOH
i CH, CHO
| ) o
Cl
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CH,; COONa, 180°C:
—_—

(CH, C0),0
e

Write a suitable chemical reaction to convert ethanoic acid intg,
a)  Methane b) Methyl cthanoate
Ethane ¢)  Ethanamide

Identify the chromophore and auxochrome in the mo=o§.=w dye

b)  Define pesticide with examples.
c) Compare between nuclear fusion and nuclear fission
Group 'C’
Long answer questions T
9. a) Define conjugate acid and conjugate base. Giye ooe._.wma acid and conjy,
b)  How does change in temperature effect the pH of pure water? e
€ 200ml of HC] solution (j
of the resulting solution,
Or, ) Derive the relation AG = ~TASyoy1. Discuss the criteria of Spontaneity on
relation, .

b)  Discuss the physical significance of entropy.

¢)  The value of AH® and AS® for the reaction Ny(g) + Hy(g) & 2NH, @) is-9¢
mol™, i % P

|

CHCH, CH, c] i o CH,

—C cH—c—_qg

b) Starting from
heating with S
and gives X o,

alkene X hoy would yoy Proceed
odium and dry ether, 7 is a second.

0 heating ity conc, H,

PH=2) is added to 300 m] of NaOH solution (pH=
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